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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. Come up with any two services you think will nourish during corona days. Explain the reason of your answer for each of the services chosen. (2 Points)
Some services that will nourish during corona days can be:

· Home delivery - Reason: companies may be physically closed by law or because customers may psychologically be afraid of physically travelling to companies’ premises.

· Online banking – Reason: Banks may have to be closed or operate on a limited number of hours daily as well as customers may be psychologically afraid of physically travelling to banks to get services.

2. How can service operations managers overcome the problem of intangibility (i.e. the problem that services cannot be seen, felt as well as tested for performance before purchase)? (2 Points)
Service operation managers could overcome the problem of intangibility through the following ways:
· Reputation

· Registration

· Licensing

· Regulation

3. Come out with any two forces that motivate a service firm to consider sustainability as a strategy. Give an example clarifying each of the chosen factors. (2 Points)
Some forces that motivate a service firm to consider sustainability as a strategy are as follows:

· Regulations / legislation – Example: Governments setting targets for collection, recycling, and recovery of all types of electrical and other hazardous materials.
· Perception / image building – Example: Customers preferring service companies that do value sustainability issues.
· Economic – Example: Waste reduction and recycling of waste could bring economic benefits to the company.
4. In blockchain technology, how can peer-to-peer trust be established? (2 Points)
In blockchain technology, peer-to-peer trust can be achieved throughout the following:

· Mass collaboration
· Clever code

· Perception of the impossibility to tamper with a block.

5. What are some challenges faced by service managers when using role playing as an interviewing technique? (2 Points)
Some challenges faced by service managers when using role playing as an interviewing technique are as the following:

· Difficulty to directly compare between applicants

· Careful scripting requirement

· Need of rehearsing roles for the  “actors”

6. Contrast producer’s risk (Type I error) to consumer’s risk (Type II error). Provide an example for each of those very errors. (2 Points)

While Type I error occurs when companies take actions while the process is in control (Example: decide to retrain all employees while the problem is no need for that), Type II error occurs when companies do nothing while the process is out of control (Example: Do nothing while the hotel is recording lower and lower occupancy rates due to employees’ incapabilities / lack of motivation).
Good Luck
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